Palomar College

Name Student ID: SSN

Martin Eric D.

Birthdate : 1976-03-23

Gender Male Print Date: 21-MAY-2008

Palomar Community College District Identifying Code: 375542

	Cum GPA	2.862	Cum Totals :	30.00	27.00		83.000	29.00
FALL	1999							
Course		Description		Attempted	Earned	Grade	Points	GUnits
AJ	104	CRIMINAL LAW		3.00	3.00	В	9.000	3.00
AJ	117A	PATROL TACTIC	s 1	3.00	3.00	В	9.000	3.00
AJ	118A	BASIC FIREARM	SALOMAR ON	3.00	3.00	A C	12.000	3.00
AJ	119B	LAW ENFORCEMEN	NT PROCEDURES 2	0.50	0.50	CR	0.000	0.00
AJ	122	POLICE FITNES	3	1.00	1.00	A	4.000	1.00
AJ	141	ENFORCEMENT P	SYCHOLOGY	3.00	3.00	В	9.000	3.00
AJ	197	TOPICS IN ADM	IN OF JUSTICE	0.50	0.50	CR	0.000	0.00
CO	URSE TOPIC	(S): ACADEMY OPE	RATIONS II					
HIST	101	U.S. THRU RECO	ONSTRUCTION	3.00	3.00	В	9.000	3.00
HIST	102	U.S. SINCE RE	CONSTRUCTION	3.00	3.00	В	9.000	3.00
Re	peated	: Repeated Cours	se - Allowed (units/	grade allowed)				
PSYC	120	SOCIAL PSYCHO	LOGY	3.00	3.00	A C	12.000	3.00
	Term GPA	4 : A 3.318 A	Term Totals :	23.00	23.00		73.000	22.00
	Cum GP1	3.250	Cum Totals :	53.00	50.00		156.000	48.00
SPRIN	G 2000							
Course		Description		Attempted	Earned	Grade	Points	GUnits
ANTH	100		ICAL ANTHROPOLOGY	3.00	3.00	C	6.000	3.00
				2 00	2 00		6 000	2 00

Course		Description	Attempted	Earned	Grade	Points	GUnits
ANTH	100	INTRO TO PHYSICAL ANTHROPOLOGY	3.00	3.00	C	6.000	3.00
CE	100	COOPERATIVE EDUCATION	3.00	3.00	C	6.000	3.00
PHIL	101	THEORY-KNOWLEDGE AND REALITY	3.00	0.00	F	0.000	3.00
AJ	75	SPANISH FOR LAW ENFORCEMENT	3.00	3.00	В	9.000	3.00
AJ	110	BASIC CRIMINAL INVESTIGATION	3.00	3.00	В	9.000	3.00
AJ	114	REPORT WRITING	2.00	2.00	A	8.000	2.00
AJ	117B	PATROL TACTICS 2	3.00	3.00	A	12.000	3.00
AJ	117C	PATROL TACTICS 3	3.00	3.00	A	12.000	3.00
AJ	118B	TACTICAL FIREARMS	1.00	1.00	В	3.000	1.00
AJ	119C	LAW ENFORCEMENT PROCEDURES 3	0.50	0.50	CR	0.000	0.00
AJ	119D	LAW ENFORCEMENT PROCEDURES 4	0.50	0.50	A	2.000	0.50
AJ	120	DEFENSIVE TACTICS	3.00	3.00	В	9.000	3.00
AJ	135	TRAFFIC CONTROL	3.00	3.00	В	9.000	3.00
AJ	197	TOPICS IN ADMIN OF JUSTICE	0.50	0.50	CR	0.000	0.00
cot	RSE TOPIC	(S): ACADEMY OPERATIONS III					
AJ	197	TOPICS IN ADMIN OF JUSTICE	0.50	0.50	A	2.000	0.50
cot	RSE TOPIC	(S): ACADEMY OPERATIONS IV					

SUMMER	2000						
Course		Description	Attempted	Earned	Grade	Points	GUnits
AJ	117D	PATROL TACTICS 4	2.00	2.00	A	8.000	2.00
AJ	131	JUVENILE JUSTICE	3.00	3.00	В	9.000	3.00
SPAN	105	ELEMENTARY SPANISH	3.00	0.00	· F-AL	0.000	3.00
	Term GPA	: 2.125 Term Totals :	8.00	5.00		17.000	8.00
	Cum GPA	: 2.989 Cum Totals :	93.00	84.00		260.000	87.00

Term Totals :

Cum Totals :

32.00

85.00

29.00

79.00

Credit Career Totals 84.00 260.000 87.00 93.00 Cum GPA : 2.989 Cum Totals : Degr GPA : 2.989 Degr Totals : 93.00 84.00 260.000 87.00

This officially sealed and signed transcript is printed on red SCRIP-SAFE® paper with the name of the college printed in white type across the face of the document. A raised seal is not required. When photocopied, the name of the college appears on one line and the word COPY appears on the next. A BLACK AND WHITE OR A COLOR COPY SHOULD NOT BE ACCEPTED!

Term GPA :

Cum GPA :

Cum GPA :

2.806

3.076



87.000

243.000

31.00

79.00



Office of Admissions and Records

1140 West Mission Road San Marcos, CA 92069-1487

www.palomar.edu (760) 744-1150, ext. 2169 Fax (760) 744-2932

TRANSCRIPT GUIDE

Palomar College is a semester-system, two-year public California Community College officially accredited by the Western Association of Schools and Colleges. Palomar College is also officially accredited by the American Dental Association, the Board of Registered Nursing, and the National League for Nursing, the committee on Accreditation of Educational Programs for the Emergency Medical Services Profession, and the California Commission on Peace Officer Standards and Training.

Course Numbering System

Effective Summer 1990*:

1–49 Non-Associate degree applicable 50–99 Associate degree applicable/

Non-transferable

100-299 Lower division transferable course work

*The Degree total line at the end of the transcript includes course work from Summer 1991 and forward.

1969/70 to 1989/90:

1–99 Lower division transferable course work 100 & up Non-transferable

1946 to 1969:

An explanation will be provided upon request.

Pre-Summer 1983 Records

Students with records prior to Summer 1983 have the notation "*** Pre-1983 Summer enrollments. Microfilm index number: ----" printed below the header. Records prior to Summer 1983 will be listed on a separate photocopy of a microfilmed record. The Credit Career Totals do not include Pre-Summer 1983 course work.

Notes

Notes such as grade changes, course repeats, grade basis definitions, Academic Renewal, Credit by Examination and requirement designations (e.g. Multicultural) are listed below the course.

Grading System

Α	Excellent	4 points per unit
В	Good	3 points per unit
C	Satisfactory	2 points per unit
D	Less than satisfactory	1 point per unit
F	Failing	0 grade points
FW	Failing for unofficial Withdrawal	0 grade points

Not computed in grade point average:

HUL	computed in grade point average.
P	Passing (At least satisfactory)
CR	Credit (Satisfactory or better)
NP	No Pass (Less than satisfactory or failing)
NC	No Credit (Less than satisfactory or failing)
I	Incomplete
IP	In Progress
W	Withdrawal

MW Military Withdrawal (Without penalty)
RD Report Delayed (Temporary notation)

Release of Student Information

This transcript has been issued in accordance with the Family Educational Rights and Privacy Act of 1974. The information contained in this record is confidential, and may not be released to anyone without the written consent of the student.

TO TEST FOR AUTHENTICITY: Translucent globe icons MUST be visible from both sides when held toward a light source. The face of this transcript is printed on red SCRIP-SAFE® paper with the name of the institution appearing in white type over the face of the entire document.

PALOMAR COLLEGE • PALOMAR COLL

ADDITIONAL TESTS: When photocopied, a latent security statement containing the institutional name and the words COPY COPY COPY appear over the face of the entire document. When this paper is touched by fresh liquid bleach, an authentic document will stain. A black and white or color copy of this document is not an original and should not be accepted as an official institutional document. This document cannot be released to a third party without the written consent of the student. This is in accordance with the Family Educational Rights and Privacy Act of 1974. If you have any questions about this document, please contact our office at (760) 744-1150. ALTERATION OF THIS DOCUMENT MAY BE A CRIMINAL OFFENSE!

08112808

SCRIP-SAFE® Security Products, Inc. Cincinnati, OH•U.S. Patent 5,171,040



A PHOTOCOPY OF THIS TRANSCRIPT IS NOT OFFICIAL.

Palomar College

Martin, Eric D. Name 000918756 Student ID:

SSN : ***-**-0257 Birthdate : 1976-03-23

Gender : Male 21-MAY-2008 Print Date:

Palomar Community College District Identifying Code: 375542

Send To : ERIC D. MARTIN

Degrees Awarded

Degree : Certificate of Achievement Confer Date : 2000-08-15

Plan : Law Enforcement

- - - Beginning of Credit Record

Course		Description	Attempted	Earned	Grade	Points	GUnits
CE	100	COOPERATIVE EDUCATION	4.00	4.00	A	16.000	4.00
HIST	102	U.S. SINCE RECONSTRUCTION	3.00	0.00	P	0.000	3.00
PSYC Rep	peated 125	: Course Repeated Subsequently HUMAN SEXUALITY	3.00	3.00	c	6.000	3.00
	Term GP	A: 2.200 Term Totals:	10.00	7.00		22.000	10.00
		A: 2.200 Cum Totals:	10.00	7.00		22.000	10.00

SPRI	NG 1999						a conti	ECF .
Cours	e	Description		Attempted	Earned	Grade	Points	GUnits
AJ	- 119A	LAW ENFORCEMENT	PROCEDURES 1	0.50	0.00	IP	0.000	0.00
AJ	180	CRIMINOLOGY		3.00	3.00	В	9.000	3.00
AJ	197	TOPICS IN ADMIN	OF JUSTICE	3.00	0.00	IP	0.000	0.00
	COURSE TOPIC	(S): POLICE CUSTON	S/LEADERSHIP					
AJ	197	TOPICS IN ADMIN	OF JUSTICE	1.00	1.00	A	4.000	1.00
	COURSE TOPIC	(S): INTRO TO COM	UTERS				- Dalla	AAAD.C
AJ	197	TOPICS IN ADMIN	OF JUSTICE	9460.50	0.00	IP	0.000	0.00
	COURSE TOPIC	(S): ACADEMY OPER	TIONS II					
HE	100	HEALTH ED/FITN	SS DYNAMICS	3.00	0.00	IP	0.000	0.00
		HGL • PAL	amar coi	4.00	4.00		13.000	4.00
	Term GP	A : 3.250	Term Totals :				35.000	14.00
	Cum GP	A : 2.500	Cum Totals :	14.00	11.00		35.000	14.00

Course	ER 1999	Description	Attempted	Earned	Grade	Points	GUnits
AJ	103	COMMUNITY RELATIONS	3.00	3.00	В	9.000	3.00
	Q DESIGNATI	ON : Palomar College Multicultural R	equirement				
AJ	105	CRIMINAL EVIDENCE/PROCEDURES	3.00	3.00	В	9.000	3.00
AJ	119A	LAW ENFORCEMENT PROCEDURES 1	0.50	0.50	CR	0.000	0.00
AJ	197	TOPICS IN ADMIN OF JUSTICE	0.50	0.50	CR	0.000	0.00
2 2000	OURSE TOPIC	(S): ACADEMY OPERATIONS II				I FOR	577.7
AJ	197	TOPICS IN ADMIN OF JUSTICE	3.00	3.00	A	12.000	3.00
C	OURSE TOPIC	(S): POLICE CUSTOMS/LEADERSHIP				DATES	MAD.
EME	100	ADVANCED FIRST AID	3.00	3.00	C	6.000	3.00
HE	100	HEALTH ED/FITNESS DYNAMICS	3.00	3.00	A	12.000	3.00
		n out I al a l'Alayyen	16.00	16 00		48.000	15.00

This officially sealed and signed transcript is printed on red SCRIP-SAFE® paper with the name of the college printed in white type across the face of the document. A raised seal is not required. When photocopied, the name of the college appears on one line and the word COPY appears on the next. A BLACK AND WHITE OR A COLOR COPY SHOULD NOT BE ACCEPTED!





Office of Admissions and Records

1140 West Mission Road San Marcos, CA 92069-1487

www.palomar.edu (760) 744-1150, ext. 2169 Fax (760) 744-2932

TRANSCRIPT GUIDE

Palomar College is a semester-system, two-year public California Community College officially accredited by the Western Association of Schools and Colleges. Palomar College is also officially accredited by the American Dental Association, the Board of Registered Nursing, and the National League for Nursing, the committee on Accreditation of Educational Programs for the Emergency Medical Services Profession, and the California Commission on Peace Officer Standards and Training.

Course Numbering System

Effective Summer 1990*:

1-49 Non-Associate degree applicable 50-99 Associate degree applicable/

Non-transferable

100-299 Lower division transferable course work

*The Degree total line at the end of the transcript includes course work from Summer 1991 and forward.

1969/70 to 1989/90:

1-99

Lower division transferable course work

100 & up Non-transferable

1946 to 1969:

An explanation will be provided upon request.

Pre-Summer 1983 Records

Students with records prior to Summer 1983 have the "*** Pre-1983 Summer enrollments. notation Microfilm index number: ----" printed below the header. Records prior to Summer 1983 will be listed on a separate photocopy of a microfilmed record. The Credit Career Totals do not include Pre-Summer 1983 course work.

Notes

Notes such as grade changes, course repeats, grade basis definitions, Academic Renewal, Credit by Examination and requirement designations (e.g. Multicultural) are listed below the course.

Grading System

A	Excellent	4 points per unit
В	Good	3 points per unit
C	Satisfactory	2 points per unit
D	Less than satisfactory	1 point per unit
F	Failing	0 grade points
FW	Failing for unofficial	0 grade points
	Withdrawal	

Not computed in grade point average:

P	Passing (At least satisfactory)
CR	Credit (Satisfactory or better)
NP	No Pass (Less than satisfactory or failing)
NC	No Credit (Less than satisfactory or failing)
I	Incomplete
IP	In Progress
W	Withdrawal
MW	Military Withdrawal (Without penalty)

Report Delayed (Temporary notation)

Release of Student Information

This transcript has been issued in accordance with the Family Educational Rights and Privacy Act of 1974. The information contained in this record is confidential, and may not be released to anyone without the written consent of the student.

TO TEST FOR AUTHENTICITY: Translucent globe icons MUST be visible from both sides when held toward a light source. The face of this transcript is printed on red SCRIP-SAFE® paper with the name of the institution appearing in white type over the face of the entire document.

PALOMAR COLLEGE * PALOMAR COLL

ADDITIONAL TESTS: When photocopied, a latent security statement containing the institutional name and the words COPY COPY COPY appear over the face of the entire document. When this paper is touched by fresh liquid bleach, an authentic document will stain. A black and white or color copy of this document is not an original and should not be accepted as an official institutional document. This document cannot be released to a third party without the written consent of the student. This is in accordance with the Family Educational Rights and Privacy Act of 1974. If you have any questions about this document, please contact our office at (760) 744-1150. ALTERATION OF THIS DOCUMENT MAY BE A CRIMINAL OFFENSE!

SCRIP-SAFE® Security Products, Inc. Cincinnati, OH•U.S. Patent 5,171,040



A PROTOCOPY OF THIS TRANSCRIPT IS NOT

Palomar College

Page 3 of 3.

Name : Martin, Eric D. Student ID: 000918756

SSN : **-**Birthdate : 1976-03-23
Gender : Male

Print Date: 21-MAY-2008

Palomar Community College District Identifying Code: 375542

- - - End of Credit Record Veteran: 3 units Health Education Units accepted from CLEP and military schools/training.

This officially sealed and signed transcript is printed on red SCRIP-SAFE® paper with the name of the college printed in white type across the face of the document. A raised seal is not required. When photocopied, the name of the college appears on one line and the word COPY appears on the next. A BLACK AND WHITE OR A COLOR COPY SHOULD NOT BE ACCEPTED!

Herman C. Lee
Director of Enrollment Services



Office of Admissions and Records

1140 West Mission Road San Marcos, CA 92069-1487

www.palomar.edu (760) 744-1150, ext. 2169 Fax (760) 744-2932

TRANSCRIPT GUIDE

Palomar College is a semester-system, two-year public California Community College officially accredited by the Western Association of Schools and Colleges. Palomar College is also officially accredited by the American Dental Association, the Board of Registered Nursing, and the National League for Nursing, the committee on Accreditation of Educational Programs for the Emergency Medical Services Profession, and the California Commission on Peace Officer Standards and Training.

Course Numbering System

Effective Summer 1990*:

1–49 Non-Associate degree applicable 50–99 Associate degree applicable/

Non-transferable

100-299 Lower division transferable course work

*The Degree total line at the end of the transcript includes course work from Summer 1991 and forward.

1969/70 to 1989/90:

1–99 Lower division transferable course work 100 & up Non-transferable

1946 to 1969:

An explanation will be provided upon request.

Pre-Summer 1983 Records

Students with records prior to Summer 1983 have the notation "*** Pre-1983 Summer enrollments. Microfilm index number: ----" printed below the header. Records prior to Summer 1983 will be listed on a separate photocopy of a microfilmed record. The Credit Career Totals do not include Pre-Summer 1983 course work.

Notes

Notes such as grade changes, course repeats, grade basis definitions, Academic Renewal, Credit by Examination and requirement designations (e.g. Multicultural) are listed below the course.

Grading System

Α	Excellent	4 points per unit
В	Good	3 points per unit
C	Satisfactory	2 points per unit
D	Less than satisfactory	1 point per unit
F	Failing	0 grade points
FW	Failing for unofficial Withdrawal	0 grade points

Not computed in grade point average:

P	Passing (At least satisfactory)
CR	Credit (Satisfactory or better)
NP	No Pass (Less than satisfactory or failing)
NC	No Credit (Less than satisfactory or failing)
I	Incomplete
IP	In Progress
W	Withdrawal
MW	Military Withdrawal (Without penalty)
RD	Report Delayed (Temporary notation)

Release of Student Information

This transcript has been issued in accordance with the Family Educational Rights and Privacy Act of 1974. The information contained in this record is confidential, and may not be released to anyone without the written consent of the student.

TO TEST FOR AUTHENTICITY: Translucent globe icons MUST be visible from both sides when held toward a light source. The face of this transcript is printed on red SCRIP-SAFE® paper with the name of the institution appearing in white type over the face of the entire document.

PALOMAR COLLEGE * PALOMAR COLL

ADDITIONAL TESTS: When photocopied, a latent security statement containing the institutional name and the words COPY COPY COPY appear over the face of the entire document. When this paper is touched by fresh liquid bleach, an authentic document will stain. A black and white or color copy of this document is not an original and should not be accepted as an official institutional document. This document cannot be released to a third party without the written consent of the student. This is in accordance with the Family Educational Rights and Privacy Act of 1974. If you have any questions about this document, please contact our office at (760) 744-1150. ALTERATION OF THIS DOCUMENT MAY BE A CRIMINAL OFFENSE!

08112808

SCRIP-SAFE® Security Products, Inc. Cincinnati, OH•U.S. Patent 5,171,040